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<script src="moisrex_animation_v1.2.js"></script>

<style>
#test{
width: 10em;
height: 10em;
border: 20px red solid;
position: fixed;
top: 50%;
left: 50%;
margin-left: -5em;
margin-top: -5em;
}
</style>

<button onclick="show(document.getElementById( 'test"));">show</button>
<button onclick="hide(document.getElementById( 'test"'))">hide</button>
<div id="test" style="background:black;color:white;display:none;">test</div>
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<div id="test2" onclick="animate(this, 'width:300px");"
style="width:300px;height:300px;border:3px solid red;">
A i lae g 4l sl 4 5) Glnani) 4S (85 U S SIS W) 8 5,
</div>
<script>
animate(document.getElementById('test2"'), 'width:1000px",{
noDisturb: true,
time: 10000
})s

</script>
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<script src="moisrex_animation_v1.2.js"></script>
<style>
#test{
width: 10em;
height: 10em;
border: 20px red solid;
position: fixed;
top: 50%;
left: 50%;
margin-left: -5em;
margin-top: -5em;
}
</style>
<button onclick="fadeIn(document.getElementById('test"'));">show</button>
<button onclick="fadeOut(document.getElementById( 'test'))">hide</button>
<div id="test" style="background:black;color:white;display:none;">test</div>
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<script src="moisrex_animation_v1.2.js"></script>
<style>
#test{
width: 10em;
height: 10em;
border: 20px red solid;
position: fixed;
top: 50%;
left: 50%;
margin-left: -5em;
margin-top: -5em;
}
</style>



<button onclick= >show</button>
<button onclick= >hide</button>
<div id= style= >test</div>
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